
1ylU1AU01t?fi nUlnfl n1'{rUrsnl5

5 n:nl1n 2560

6or a:rJion::l "rireraril-o660fl a'lnrlvdnrJitryrro:utfi onorfi us,,

rieu virurio'rurunr:

Srfidslrdrtr 1. a:druanr:rj:suiu

z, a;r1rirl{drafion::l "riraar:infi6ona-rnruua'nlirryr rn:uofiovrorfiu.l,,

u'tLfiaJrufion::lldo-nfron::r "riruarfn66or,{n'{m1 vd'n ir6u1rfl:urfionorfiu{,, 'hiuri

rinfinrcr:vnl! fia. q rj:so'rflnr:6nur 2560 6u1durar5fi 1 * 2 n:nlln 2560 ru riruainru.r

rlnr-rnrritn . RBAc n-{vin!n::rtf,lr Intrr'inqrJ:sarrirdohftin6nuri,i'nnr:rirmurflufirfin.nr

inarrin6 riordfinn::il6'lneir116'raiqdurifl!Souudr irtoa:r.izuanr:rirrfiu'ruryrd

1. Hanr:ritfiuflon::l

rQlrJ3uru

rTn6nurfii#uqirur n 542 Au rrrririufion::r sos nu fiorfluio tJas g3.!7

t0rnrunrv.l

ilnuluaol]n1 nr:U:vrfruzuanflrLfisroltaqr.Jtunrr:rr: oqlu :cd'utrn (x = 4.26,

s.D. = 0.80) loufidr!:vrfiuzua4lao6o virratrr:n l{riu fion::rio-nnr:rir{rurijufil.6'run.rrrl
arrind oglu :cd'uurn (X = 4.45 S.D. = 9.62y rirurjrr1:vrfiuzuaairaofio virufinrunor1:cx.jrru

lunr:nirjurfion::lnurira-lnrrlaur:nroloqlu :cdu rn (x = 4.02, S.D. = 0.77)

ornzuanr:rirrflurruyw'ir rinfinurdtLrYrdrfion::lodr{d!nau1u i6'nnr:lirrrui:rn-u
rflufr lTnardl{rr-tfiudr iufi oitLlolirlru6'rErn1r arlr-n6

2. .tu tstt,lfu

nrrlondr:fiuul

a. f,ryurqrJa::n domuouus

3.1 flruraruacoda::n

flrgvrdrfiolufl 25se hifi

flqrardrfinllfl 2s6o lrifi



3.2 {arduauur

4. uurrrr'lunr:riruurdohJ

lufl nr:6nur 2561 asyrululrr iurJ:lurasurfi tn::rurJan 1 lvil rfi olfirinfinrrrfi o

nrur.J:vriulo uravfi ntuar'[unr:rirfi on::u

0nL:uuUltltoyl:1lJ

rouaq{n?'r rilJdo

rl
1.,AtJh I lt+'-"t

(urrarrramfi o'[tourt:)

{tiruftirurunr:alrsnani:rr

/
J L/htV

/o/r, YJ
L ^.h-b0



fi s n mN ri r fl a r lin 6 6 o vr d',r n r ru r,l ri'n :l fu rg.r r nt rugfi n vr o rfi fl .l

!

dufir-2nrnRlnil2s6o

r--*[F
rr!t$

ru rirsr{zuur rlnsnt'tfifi n r. inu:irufi n nrlr,loi o.rlrnrio.: c.un eartdilr






